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PartI Reading Comprehension (2 X 20 = 40 points)

Directions: There are some questions or unfinished statements based on the passages in Part
A and Part B of this unit. For each of them there are four choices marked A), B),
C) and D). Choose the best one.

Questions 1 - 5 are based on the passage in Part A.

1. The main idea of the 1* paragraph is that
A) there are several kinds of reading

B) many people like to read newspapers
C) a few people come to the habit of reading
D) the best way of acquiring knowledge is through reading

2. In the author’s opinion, will help to set a child on the path to
literature.
A) a life just above real poverty
B) the possibility of reading free books
C) having a curious and independent character
D) all of the above

3. A few children emerge later as open-minded and knowledgeable people because of

A) their parents’ influences

B) their curious and independent character

C) the educational system in their country

D) the ignorance of basic disciplines of literacy

4, makes various circumstances even more unfavorable for the
reading habit.
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A) The social instability through out the world

B) Lacking the peace of mind necessary to read a book

C) Unwillingness to solve the urgent problems that face us

D) Not understanding the nature of hatred, cruelty or power politics

5. An ideal educational system should encourage

A) the acquisition of facts
B) the spirit of enquiry

C) the peace of mind

D) the availability of books

Questions 6 — 10 are based on the passage in Part BI.

6. The method of selecting a book with an attractive dust-jacket is not good because

A) you may become absorbed in the dust-jacket
B) the end of the book might be rather dull

C) the book may turn out to be a bore

D) you can hardly afford to buy the book

7. The main attraction of a bookshop, according to the writer, is that there
A) you may forget about your everyday life
B) a shop assistant may not bother you
C) you can wander round it to your heart’s content

D) most of the books are very interesting to read

8. If it is a good shop,

A) an assistant will approach you when you enter the shop
B) no assistant may pay any attention to you

C) an assistant will offer you his help only when necessary
D) no assistant is interested in selling a single book

9. You should not be attracted by the variety of books in a bookshop or
A) you can bring trouble on an assistant
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B) you might end up with a rather dull book
C) you may waste a little money on useless books
D) you will spend your time and money wastefully and foolishly

10. The shopkeeper

A) was not interested in selling books
B) was a long-suffering and indulgent person
C) would never allow anyone to buy the textbook

D) treated the medical student with great love and care
Questions 11 — 15 are based on the passage in Part BII.

11. An average reader can maintain the reading speed of 300 words per minute
" A) when he reads novels and biographies
B) if he wishes to read poetry

C) while he lingers over some passages in fiction

D) when he absorbs meaning in science and business

12. If an average reader spends 15 minutes a day on reading,

A) he can read 4,500 words in one month

B) he can finish exactly 2 books by the end of each month
C) he will be able to read 20 books in one year

D) he may exhaust a whole library in one year

13. Over a very long lifetime, Osler read a great many books
A) dealing with his medical specialty
B) on a wide variety of subjects
C) concerning Sir Thomas Browne
D) on the introduction of modern clinical methods

14. The PFC read a pocket book whenever he had time because

A) he wanted the recommendation for promotion to go through
B) he had to pass the examination for the rank of captain
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C) he found reading very useful and relaxing
D) he came up against a new change in regulations

15. Each of us can find time to read
A) before he goes to bed every day
B) trying to be the fifth at bridge
C) if only he has the will to read
D) because no universal formula can be prescribed

Questions 16 — 20 are based on the passage in Part BIII.

16. The reading disorder means the author’s
A) disruptive way of reading
B) difficulty in reading
C) failure to arrange reading in order

D) feeling of depression in reading

17. The author was so involved in reading a book that
A) she stopped performing bodily functions
B) she refused to read kids bedtime stories
C) she had supper delivered from a local fast food
D) she fell in love with the paperback

18. The author once called in sick to work since

A) she couldn’t resist the temptation to read the story

B) she had not got ready for the work the following day
C) she was not feeling well and wanted to stay in bed

D) she was so close to finishing the book she was reading

19. Finally, the author attempted to balance her routine with her pastime by

A) rereading everything she already had at home
B) taking enough time before picking up another book
C) making a decision to stop reading altogether
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D) getting herself back to the real life

20. We can infer from this passage that

A) the irrational reading behavior almost disrupted the author’s life
B) the reading disorder does no harm to the author
C) the author remains an obsessive reader

D) the author’s “to read” list grows daily

Part I Vocabulary and Structure ( 1X40 = 40 points )

Directions: Each of the following sentences is incomplete and followed by four choices.

Choose the one that best completes the sentence.

1. One can never his friends when they are in trouble.
A) desert B) deserve '
C) dessert D) descent
2. The great majority of the housewives will wish to be completely from the
heavy housework.
A) trained B) disgusted
C) relieved D) prevented
3. There are a few people in the world who spend their whole life academic
reading; many others just read pleasure.
A) in...for B) on...with
C) in...with D) on...for
4. When Mary’s husband died, she had to her little boys on her own.
A) care about B) bring up
C) grow up D) concern about
5. you are ready for orders at all times.

A) See that B) Now that
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10.

11.

12.

13.

C) Seeing that D) So that
. Jean couldn’t what the middle-aged lady means.
A) figure on B) figure out
C) figure in D) figure up
. Books have from the time of the Egyptians.
A) survived B) advanced
C) authorized D) submerged
. Many crimes were committed in the of justice and liberty.
A) order B) interests
C) authority D) name
. As a developing country, China has to reduce the population.
A) literal B) literary
C) illiterary D) illiterate
She starts with the aim of doing harm to others only to with ruining
herself.
A) run up B) turn up
C) end up D) go up
Football gives full for courage, cooperation and quick thinking.
A) attraction B) scope
C) limitation D) priority
Has it never on you that his story may not be true ?
A) decided B) drawn
C) dawned D) dropped
Was it in 1948 that the Government the railways in Great Britain ?

A) took over B) took in



14.

15.

16.

17.

18.

19.

20.
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C) took after D) took off
The car accident was partly to faulty braking.
A) attributed B) contributed
C) happened D) limited
The teacher Warren and Felix severely since they have escaped from school
for two days.
A) told on B) told against
C) told over D) told off
The nations should settle their differences by rather than by war.
A) promise B) commission
C) compromise D) promotion
Galileo’s ideas were well of the age in which he lived.
A) in advance B) at ahead
C) far behind D) in front
The teacher the student’s composition and handed it back without
comment.
A) looked after B) looked out
C) looked through D) looked to
John is in a state of on account of his failure to pass the examination.
A) revolt B) depression
C) chaos D) survival
Of all subjects of study, it may be safely admitted that grammar possesses the least
for the youthful mind.
A) status B) target

C) utility D) attraction
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21. The meeting discussed how to cooperation among all interested in Jazz
© music.
A) promote B) attract
C) verify D) withstand
22. What punishment does the law for this crime ?
A) submit B) account
C) prescribe D) describe
23. The management of the company a series of problems during the economic
crisis.
A) came over B) came across
C) came up with D) came up against
24. Waiting for news of the lost boy was sheer to his parents.
A) torture B) failure
C) capture D) adventure
25. Driving very fast on a rainy night is not with safety.
A) responsible B) favorable
C) tolerant D) consistent
26. Though it looked like rain this morning, it has to be a fine day.
A) turned on B) turned up
C) turned out D) turned round
27. Steven has not read that book properly. He’s only dipped it.
A) down B) into
C)in D) to
28. Four tennis courts and two swimming pools are for the regular members of the

club.
A) available B) possible



29.

30.

31

32,

33.

34.

35.

36.
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C) chargeable D) able

The map is away in a pocket at the end of the travelers’ guide book.

A) tugged B) turned

C) tunneled D) tucked

Freda had in the preceding three years debts totaling more than $2000.
A) run out B) run up

C) run on D) run in

We do meet now and , but not regularly.

A) then B) that

C) later D) earlier

A house on fire is a matter of great

A) action B) insurance

C) project D) urgency

In the few minutes he had to spare Dave off a note to his brother.
A) jumped B) cleared

C) dashed D) laid

the question of East-West

If he wants my note he’ll have to take a stand

relations.
A) on B) against
C) for D) at
As soon as Joe’s divorce has , he married Alice.
A) gone over B) gone down
C) gone through D) gone off
No new ideas during the talks.

A) hesitated B) emerged
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Q) illustrated D) forged
37, , we should have twice as much office space as we have now.
A) Ideally B) Intentionally
C) Physically D) Totally
38. It was then that I noted a change the stranger’s face.
A) come up ' B) come about
C) come down D) come over
39. The college successfully dozens of young people who have become
executives of some leading businesses.
A) developed B) acquired
C) cultivated D) attempted
40. Don’t bother to look for my umbrella; it will someday.
A) turn out B) turn up
C) turn upon D) turn over

Part III Cloze (2X10 = 20 points )

Directions: Each blank in the passage is provided with four possible choices. Read the whole
passage and choose the best answer for each blank.

The ability to spot the writer’s purpose is especially useful in reading newspaper
headlines because headlines can serve different purposes. A careful reader is always on
watch (1)
to (2)
skill, but sometimes the whole story cannot be (3)

what the headline writer is trying to do. The first purpose of a headline is

the reader by summing up the story it covers. Usually this is done with great

in a single phrase or sentence. If

there are several (4) , the headline writer must select the most important one to

write about. The second job of a headline is to get the reader to do something—to
(5) the paper and read the story. The headline must therefore catch attention and
(6) curiosity. Sometimes this can be done by an (7) twist. The writer’s



